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The Harappan Civilization belongs to WhICh
age ?

A) Iron Age

B) Stone Age

C) Bronze Age

D) Paleolithic Age
'E) None of the above
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What was the theme of the

Entrepreneurshlp Development Conclave
2025 held in Pune ?

A) Empowering Entrepreneurs o
Transforming Livestock Economms

B) Strengthening Rural Startups through
Innovation i

C) Building Future Leaders in Agri-Tech.

D) Livestock Entrepreneurship for a
Self-Reliant India -

E) None of the above
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World Consumer Rights Day is observeq
on
A) April 8
B) March 21
C) October 11
D) March 15

E) None of the above
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question is one to which a member

house and which

an asterisk mark.

A) Short notice
B) Starred
C) Unstarred

D) Long noticé

e Of the above mmp.v"‘»‘"‘—-’r:‘m’na""—m’

E) Non S
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Kangto is one of the hlghest peaks of India
is located in which'State ?

A) Himachal Pradesh
B) Arunachal Pradesh
C) Nagaland L

D) Manipur

E) None of the above
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El*‘fIEI Mahavira attained:moksha (became a
E]E‘ﬂ',, Siddha) at which of the following places ?
‘ B) Kapilavastu

A) Rajagrina

C) Pavapuri - = D) Purushapura

E) None of the above
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Asian Games are held once in how many
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i A) 7594
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A fom C) 55 | -D) 80 a4
. E) ST # 9 ¢ 7
B) RES £ 5 =4[E]
o) fr At what age did the Buddha attain Mﬁyﬁ?’,
_ . Parinibbana (final liberation) ? e
D) ==
- . A) 75 years B) 60 years
E) Sud | ﬁﬁé T C) 55 years D) 80 years

E) None of the above
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2 . Whi try officially became the
AR ‘: 1o|t1fl‘cf:||0?7:j:m%:r of the BRICS group in
¥ B) & | | January 2025 ?
% A) Saudi Arabia
“ | B) Turkey
| D) femam@ . C) Indonesia
|
| S & & ‘ D) Egypt
| - il ——— E) None of the above S
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T Fa e | A) it iftr T 1950
A) T IS
el i B) 3ftenfires fife e 1948
° . & i? c) 3t Hif st 1952
o, B . D) siteifires i e 1956
D) A&HMT . .
: E) Sugad # & 1S T
E) W & Hif T

O A social phenomenon in which a sectlon of
"-:l' the society is unable to fulfil even |ts ‘basic
necessmes of life is called as s

A) Unemployment

Which Industrial Policy Resolution gave the
public sector a strategic role in the Indian
economy ?

A) Industrial Policy Resolution 1950
B) Industrial Policy Resolution 1948
C) Industrial Policy Resolution 1952

B) Poverty [,
C) lliteracy I_ D) Industrial Policy Resolution 1956
D) Inequality < I E) None of the above

E) None of the above

28, qd srifi Tegafdl fmft BT T 100 I i Y
ﬁ%ﬁﬁﬁl?ﬁﬁmaw ?

i e 3 T SEeSR B TR, T

B it # fafed &2 ) 25 fagen, 2024

A) ST 46 | S B) 15 e, 2025

B) ag=ag 21 C) 29 feger, 2024

C) arg=sa 57 I; D) 30 TE, 2024

D) 3rgesg 53 _ s b 3 4 :

£) T & & P T u e

Article O the Indian Constitution, { & j[=] Former U.S. President Jimmy Carter passed
::18 IC)erWhltCh power © of Union shall be vested %% away at the age of 100 on which date ?
e executive
A) December 25,

in the President? . X ) ' 2024

A) Article 46 I B) January 15, 2025

B) A ricle 21 | C) December 29, 2024

C) Article 57 iy D) November 30, 2024 -
D) Article 53 E) None of the above
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A) TIH
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C) g 3

D) =hwWg o)

E) 9 & & ig e -

EI El The Purusha Sukta, WhICh explalns the

El‘p*ﬁ origin of the four Varnas, is found in which
Vedic text ?

A) Yajur Veda

B) Samaveda 1.
C) Atharva Veda oy
D) Rig Veda i

E) None of the above
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30. afe 2994 + 14.5 = 172 &, ?ﬁ2994—145_

Q N
%

(L N

A) 1.72
B) 0.172
C) 17.2
D) 172
E) Iwfw & & g T&
If 2994 + 14.5 = 172, then 29.94 + 1.45 =

e U
il

A) 1.72
B) 0.172
C) 17.2
D) 172

E) None of the above
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Direction (Q. No. 31 to Q. No. 35) : The given
table shows the number of employees in four
different companies and the percentage of

male, ratio of the male to female employees in
Finance department.

The companies have two different departments
Finance and Marketing.

Company a;ﬁvrﬁtﬁzﬁt wHoRaEl A ewdentE |8 96w e
e/ w1 %/ 1 %/ Afget
Total %ofthe |[%ofthe  |SHw=ival
number of |male employees |TRT AU/
employees [employees [in Finance Ratio of the
department |male to
female
employees
in Finance
department
A 2000 60% 70% 4:3
B 2400 75% 50% 3:1
C 1800 50% 60% 5:4
D 2800 75% 50% 9:5

31. D3 wrbfn e % weRal 3 gev 3l
q%wﬁ@raéwa’ﬂ&ﬁmw??

m 6 B) 4:3
C)7:2 D) 8:3
wﬂﬁﬁ@iﬁgq—ﬁﬁ
rof maleto

What is the ratio of the total numbe
female in Marketing department employees

EEI

“n
]
il

B) 4:3

C)7:2 D) 8:3

E None of the above /, Qu__._..
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@ ¥ N St wen 35. C ¥ wEAg fawm # ge9 HH=nfEl 1 @@ D

TR ? : . . .
A) 1400 ‘ T ATt R % FHARAT H FA A H
G) e B; 1200 e femeen i & 7
130 9
£ 9 1300 A) 50%
4 B) 43%
What is the_average number of male C) 53%
employees In all the companies together ? D) 77%
A) Egg B) 1200 E) 3 3 ¥ i T
C) \ f D) 1300 The number of male employees in Finance
E) None of the above EL5[E 2l department in C is approximately what

[
-ﬁ percent of the total number of employees in

33. wft FuET § BRI R Higen sH=TRAl Marketing department in D ?

<t 3fied 9= =R 7 R
A) 470 B) 440 . A 50%
C) 460 D) 480 B) 43%
E) ST # ¥ hIE T C) 53%
What is the average number'ﬂo'f female D) 77%
employees in Finance department in all the E) None of the above
companies together ? 'y - ) '
A) 470 B) 440 | @W%a@ﬁﬂaﬁwm@@
C) 460 D) 480 | v 3i TG FW % for Frefaiad 3
£) N £ e abovie , Y F—1 e HR AT R ?
one of the 4
e fom & o AT e i e
a4, o o b B) forefar T2
et 3 s @ e ? o
A) 1680 , C) PR
B) 1460 y D) =S
C) 1720 ‘ , : -
aer»?ﬂ E) 3w # | I3 TR
D) fraifa &l ﬁﬁm:::f Which of the following acts as a vehicle f
e @ ' | or
E) b mobilising and transferring the economy’s

between the male and

Marketing department surplus to the ultimate users ?

What is the differencé

@6E ll‘l
%;;;{9 female employee® ether ? A) Government policy
*in all the companie® - i » B) Financial institutions
A) 1680 )
B) 1460 C) Man power
C) 1720 ned D) Commercial centers
D) Cannot be d:‘;r;r; , E) None of the above
E) None of the 20070 e .l
Wem e i 9 68 P.T.0
T RO
I\
lass |
VIR, T T—— &
W ” ,
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A) T. FgEH
B) @+ <<l -
C) T®ul qF
D) 3I¢F ek e
E) 31%36! T ¥ ®is TR £y
Who was conferred the Honorary Citizen
Award of Singapore by President Tharman
| Shanmugaratnam during a ceremony in
New Delhi on January 15, 2025 ?
A) N. Chandrashekaran :
B) Ratan Tata
C) Tarun Das
D) Uday Kotak
E) None of the above o

aﬁaw%@r?ﬁﬁwaﬁaﬁﬁam% ?

38.

) | A) T B) I
C) Hetdi e
E) 3wded § ¥ IS T !

The Adi Purana, is the haglography of
which Tirthankara ?

A) Parshvanatha B) Neminatha
C) Mahavira D) Adlnatha
E) None of the above 4

| .q{iﬂﬁmm(FMF) 20253»"6131??]‘%1?[
1 T TR AT 7 &
A) e, e
B) a1 e, LT3 G
C) w&he, MM
D) T, ¥ T oy
E) 3ude # & 1S T8I o
%‘5@ Where was the Future Mlnerals Forum (FMF)
34 2025 held 7 £ad
A) Doha, Qatar i
B) Abu Dhabi, UAE
C) Muscat, Oman

D) Riyadh, Saudi Arabia
E) None of the above
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*A) 989

B) 980

C) 998

D) 990

E) S # & wg Tl
The difference between the largest 3 digit
number and smallest 2 digit number is

A) 989

B) 980

C) 998

D) 990

E) None of the above
*‘El
41.@'—[—?{16@%:%31@—1? E#"}:‘?
A) 45
B) /49 -1
C) gl s 8
D) fuiRa &l feram ST Hehell
E) Swjam & & IS TR
Which is greater : J45 orv49 -1 72
A) 45
B) V49 -1
C) Both are equal

D) Cannot be determined

e

E) None of the above
) shova (R

B

B
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Direction (Q. No. 45 to Q. No. 49) : Study the
ST following information carefully and answer the
D) TS FHrishy : g
E) ST # ¥ WIS 78 given questions.
{’ e The s S Programme waé The following table shows the total number of
s restructured and renamed as . .
E i from October, 1980. B crops (in quintal) produced by 5 different farmers
A) Rural Employment Guarantéé: in a certain year.
Programme :
B) National Rural Employment w | wwy | W | T g/
Programme ‘ Rye | Mustard | Oats | Sugarcane | Wheat i
C) Integrated Rural Development W [gg0| o0 | 840 500 o (,7\1‘,’
Programme Roshan - ! .
D) Employment Generated Programme TR | 450 | 50 | 180 600 40 00
E) None of the above Prabhakar | - . P
T
Theia | 70| 80 | #° 560 650 @.
@ >l forg TR TS T TRIRD :[RT 27 e 7 ]
A) T B) W ey [ 200 | 1050 | 220 840 820 =+ 3370\
c 7 Vel D) s : n
£) wef i @ ¢ 7 L] o |aso | 7e0 | 620 720 ?/Qq
f which 2330, q"}o \ 1L
Dekhni is a traditional dance form 0 =X " _
Indian State ? 45,) s gr IeTtea 3nEd ‘Fﬂﬁ T I
A) Goa B) Kerala A) 612 0 50 R
C) Madhya pradesh D) Odlsﬁa B) 574 \ og® | 18
E) None of the above L] C) 656 w.:O T 209
1 ) [ o
s D) 738 : P 10\
ey SfE ;ﬁﬂ'l'&'ﬁ A T Q
) c < O Q
e £) e B 8 A 3
A) 20 5, 1834 B) 28 mﬂﬁﬁh 12:;‘ Find the average crops produced by Theja
)2131??11843:@‘ D) ha ay 612 T
I ety W 574
&) W | British \ndia Society was B) ‘Z—Q\VP
The Ber;]g% . oo A, 1844 C) 656 @
establishe B) pril,
A) 20 April, 1824 D) 20 April, 1843 D) 738 wN
) [2\|1 Apg' 8 dbove E) None of the above
E) None o —
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vzg| lmm iy R L
/ \ )’fé: By
’ ‘V ‘/-“ ‘. Al
. : - '_:::.
. (! |

(3 Scanned with OKEN Scanner


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

dda

eY

46.) Fra Rram 3 el Ged HA BEel IS 7

A) TR B) al
C) I D) wria
E) Svdaa # § #1§ T
Which farmer produced third lowest number
of crops ?: ! |
A) Prabhakar B) Theja
C) Roshan: D) Bhargav
E) None of.the above
e o v S e el o g T
e ST, T |
A) 397 : 284 B) 185:113
C) 229:1?5 D) 52:17
E) 3@%7:}‘&? g Tl

@ Findthe ratio between total Mustard produced

= 2
], to that of totgl Wheat produced by all thel

" farmers. |
A) 397 : 284 B) 185: 113
C) 229:175 D) 52:17

E) None of the above

48.%@11%@?@,%%3@&3
%Wﬁwﬁ?ﬁmﬂﬁﬂﬁ%?

A) 72% B) 85%
C) 97% "' D) 58%
E) Sugdaa & & I Tl

The total crops produced by Roshan is

" approximately what percentage of total
crops produced by Bhargav ?
A) 72% | B) 85%
C) 97% . D) 58%
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3 % 9 i s ¢ |
A) 156 B) 234
C) 118 ~ D) 192
E) 39w ¥ § 918 7
Find the difference between the average of
Rye produced to that of Oats produced by all
the given farmers together.
A) 156 B) 234
C) 118 D) 192

E) None of the above
(50. i 1 $w sheu w6 T R
g H T R ?
A) TIITE T M@
* B) TGS IS
C) WeA Higd Hed
D) =TeT TR faerh
E) Swe # § Hig T8
East Indian Association in London was

founded by
A) Gopala Krishna Gokhale

B) Dadabhai Naoroji

C) Madan Mohan Malavia
D) Bal Gangadhar Tilak
E) None of the above

13/1) Hifera <y el R 7

A) U 3 B) rersnt

C) et D) T

E) Swia § & HiE T

What s the capital of Libya ?

A) Port Louis B) Luxembourg
C) Tripoli D) Amsterdam

E) None of the above
™

E) None of the above
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52.1:'@1?1‘3?3?5’1@13%? 5. Jfrefer arefezaeen o @i a1
A 3 B) W A) & 3 R i R e o wgferd
. D .
E) 3§ ¥ W 05 )ﬁ_‘ﬁ@@ B) 3 ¥w Sl iy At ATt 3 HA B
Vijay Stambh is situateq i C) 3 T il wfr =afeRa qrEafes 3T 31 2
A) Udai —_
) Udaipur B) Jaipur D) & Forril aiferep i e Wl
C) Jodhpur D) Chittorc .
E) None of the above | O'Qam E) g # q HIg T
S Tl s E],ﬁ.m Meaning of the underdeveloped economy
3. ' e L sa g p
58. ¥ (Ser) aifufrm, 003 99 | i was
WLES‘T ? i ol i
: A) Countries in which per capita real
A) 1 %[, 2024 I income is balanced
B) 1w=ad, 2024 B) Countries in which per capita real
C) 1 3, 2024 income is low —
D) 55, 2024 C) Countries in which per capita real
- ’ N _ [ income is high
) EI: I : D) Countries in which mass poverty is
When did the Biological Diversity observed
(:;n?n:n;ent) Ac2t,02223 come intoforce ? E) None of the above
ebruary,
B) 1 January, 2024 56. /31 T TSA (ILO) T HEATed el
C) 1 April, 2024 feme 7
D) 5 June, 2024 o * A) fEr B) =i
None of the above Ay C) uf _ D) g &
s E) 3ugaa # 9 I8 &l
54. Az x 3 y wE-avA &, TS LCM TR ? Where is the headquarters of the International
« B) 1 Labour Organization (ILO) located ?
A) v ‘ "“"’y A) Geneva B) New York
~Li C) Paris . D) The Ha
A . . gue
\C) Xy D) x+y | E) None of the above
L "
e E) LR - I @ Fill in the blank with the correct option.
w;‘;’ If x and y are co-primes, then their LCM is What for breakfast ?
[=l¥: ) B) 1 _ A) are you usually having
A) y Ch ~B) do you usually have
O x D) X+Y C) have you usually
y Chy D) do usually you have
E) None of the abové E) None of the above
VZ9 (A 13 P.T.O.
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@;hoosg the one word substitution from the
five options given below.

A group of persons working on a Shlp or

aircraft e
"A) Crew B) Scar -
C) Concert D) Staff "’

E) None of the above

Choose the right answer from the fivé options

: *-\‘PL given below to frame meaningful sentence.
5% Rama / garden /in / the / be / may:
A) In the garden may be Rama.’’
" B) May be Rama in the garden.r"i"'
C) In the garden Rama may be. "
D) Rama may be in the garden.
E) None of the above ‘

.
I
jasis
T

]
=

Direction (Q. No. 60 and Q. No. 61) : Read the
following passage and answer the questions by
choosing the right option. s

Time is one of the most valuable ré'fs:burces\
we have, yet many people struggle t0';r_f1'énage

it effectively. In today’s fast-paced?ﬁyvorld,
students, professionals and even homéiﬁakers '
face numerous tasks every day. Prof:ér time
management helps individuals prioritize their
activities, meet deadlines and reducef'f}gltress.

One of the key benefits of managing tirﬁé{ wisely
is improved productivity. When people plan
their day and allocate specific time_élpts for
each task, they tend to achieve moré':in less
time. It also creates a sense of discipline and
responsibility. W

Moreover, effective time managemér“it leads
to better work-life balance. When t?‘sks are
completed on time, individuals can make space
for leisure, hobbies and family. This not only
boosts happiness but also improves mental

Howeve_r, Poor time management can result in
procrastination, missed deadlines and increased
anxiety. Developing time management skills
requires pratice and consistency. Simple
habits like creating to-do lists, setting goals, and

avoiding distractions can go a long way in making
each day more efficient and meaningful-
According to the passage, how can individuals
start improving time management ?
A) By watching motivational videos
B) By working faster without rest
-C) By creating to-do lists and avoiding
distractions '
D) By comparing themselves to others
E) None of the above :

@ What is the main purpose of the passage ?

.A) To highlight the importance of time
management : '

B) To explain the causes of stress

C) To discuss different professions

D) To promote the use of digital planners
E) None of the above

62. ¢ +4 D Wfed 1 T 30 &9 31K =10 D
WIfeRT T T FEA ¥ T T % U §
Gﬁﬂ%,m@mﬁmﬁ?$m€m1?

A) -6D B) +14D
C) +6D D) ~14 D
E) Suged § § H1s TE

If a convex lens of power +4 D and a

{%ﬁ.@ concave lens of power =10 D are placeq
EIHE in contact with each other, what will be the
resultant power ?

A) 6D
C) +6D
E) None of the above

B) +14D
D) —-14D

well-being.

VZ9

[N

o T TR YO 8 6 1 B S
AR ..
v Toenanwen

W 1460

(3 Scanned with OKEN Scanner


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET IT ON

Google Play

Adda@47

63. iR 1 S, 2001 58 o ‘ —
D??ﬁw, 2001 ﬁqﬁ IR o, 66. DTM % T <ol e aw e 3G o

A) IR R Bh—ar e o 7 et & 7

O R:ILEL g; R A) =T 2

E) S?jﬁ“\"' Y B Ty i B) =T 1

If 15t January, 2001 , I

what day of the week ;C,lvsag/'i‘t)ndas_‘/jl_then - C) = 3

31! December, 2001 » on D) =l 5

A) Friday ) i . .

C) Monday B) Wednesday E) 3w | ¥ IS &

D) Saturda -
E) None of the aboye S E+#[E Which stage of the DTM sees the fastest
1om

Rreern ﬁl%m‘ THE T I %ga;ﬁ E\’m 2 E¥E5 population growth ?

A) 1894 B) 18931 A) Stage 2
C) 1839 D) 1983 B) Stage 1
: . age
E) v & & w7 =
The Parliament of Religions held at C) Stage 3
Chicago in which year ? ]
A) 1894 B) 1893, L) Stage 5
C) 1839 D) 1983 E) None of the above

E) None of the above

e ‘@gsqjmtrﬁaaééﬁq,@mﬁw
65. 5 S, 2025 i, WA q¢ Wb 9 o fe gy 5 B o oy et 3 2 1° e

frafafas & & fera froerd g Q) weeh w9 S o
¥ feame afi fififa e et i (FPV)-3med Afea & 1 HeY Q] a
3 st AT 7 | A R | ﬁ %
A) T G fafireed TE FREE . B) ¥ - ' '
B) Wi <o Ffeeey [Afies | & wi
2 D) ==
D) it fareeé feAfiies - D | '
E)wﬁaﬁﬁﬁaﬁé:@ o E) s A & HI5 &
OnJ 5 2025, two indlgenqusly .
e o d’ onstructed Fast Patrol . Introducing a man, a woman said “His mother
s designed an C-Am ulya and Akshay —were is the only daughter of my father”. How is the
E]k“ff I\;esscalséfg\t/rs,; indian Coast Guard by which ~ man related to the woman ?
7 launche . ?
of the following Shipyard® iiders'ahd A) Father
ch Shipbui 4
A) Garden Rea B) Son

Engineers i 'ders-'Limite
B) Magzagon Dock dsE:Fr)nt:tueI:i i d C) Brother
r

'C) Cochin Shipya™ = D) Uncle
D) Goa Shipyard LI\Ta E) None of the above
E) None of the abo T pmim———— B)
” anarier A M

g, R

’ 1585
i sa )
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\j%ﬂ%qmmmaﬁtwwa:ﬁaﬁtw 70. I |ty 1 qearem wa 2 7
St &, _ - F TG e | A) S B) shershdl
A)WMA_ C) =z D) &
B) 33=3g 43A E) 3w & & ¢
C) 3TI=DT 46A The headquarter of Anushilan Samiti is at
D) =T 48A ~ A) Bombay B) Calcutta
6 3 C) Madras D) Poona
®) SR A S ﬁé & E) None of the above ) o

Protection and improvement of environment

and safeguarding of forests and wildlife of
the country comes under

A) Article 44A
B) Article 43A
C) Article 46A £
D) Article 48A
E) None of the ﬁﬁove
69. q‘s’ﬁwﬁnmmm%ﬁmm%
T 7Y T Hl ﬁa?na g Sfiar 2
A) Tasex W
B) o =s% R
C) @& T *
D) el AmRT
E) vdad & & g T
E:5['_51 Who won the Men’s Singles title at the India
E?"-’? Open Badminton 2025 held in New Delhj ?
A) Viktor Axelsen
B) Lee Cheuk Yiu
C) Lakshya Sen

D) Kento Momota

ﬂ% ya s F R 2

E) None of the above

A

i S

-A) 40%
B) 20%
C) 25%
D) 80%
E) Swdwd & & %S &

% in percent form is
A) 40%
B) 20%
C) 25%

D) 80%

;

=

E) None of the above

72. <gam-3 fpw o vafE R o
A) 2021 B) 2019
C) 2022 D) 2023
E) Swisa o & ®I Tl
Chandrayaan-3 was launched in whjcp,
year ?
A) 2021
C) 2022
E) None of the above

B) 2019
D) 2023

B 168
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(§ )y % 9fvem § g _ S
Ay s AR R @ 7 (75 s 1 o ward & i e s e
e - R ?
B ‘ }
) S W Lig A) SIHEl IR HIH
C) | U H B) g 3N e
D) e < wmw . ©) Wi 3t Rt
E) SWia § & B 7 4 D) T 3fit FIEAE
Which sea lies to the west of India? E) Swdaa & & i T
A) Bay of Bengal , E-]*‘E! Acids are stored in containers made of
A - H H r)
B) Arabian Sea - T whlch materials 7
" ©) Red Sea g A) Wood and paper
D) South China Sea v B) Metals and plastic
4 C) Glass and ceramics
E) None of the above Xy
g D) Rubber and cardboard
74, 1T w1 fRR T T 3 (76 we E) | | E) None of the above
STeRT SSERE 2026 1 8 A R P R | /%6 e b Eifere qeef @R 1928 H EG
fema TR o ? . feper T o
A) ¥ ez e, B A)rﬁ?ﬁém?@
B) i Agr, ¢ fawett _
¢y < e e feBR, bz e B) e el
D) weTeH HfeT, M | | c) fa. fa. firft
E) Sode o @ 1S el D) WE T
%‘5@ Where was the gth edition of I:\ISusf;Jc‘;c; :-\sz s E) o 33 9 T
L d Beverage (F an rade
Elk‘g;'. premier Food fn The Constitution of India was first drafted by
Show 2025 organized ? © in1928.
, Centre, New Delhil
A) India Habitat . A) Motilal Nehru
" idan, New De [
B) Pragati Maidan, ™ o B) Mahatma Gandhi
i sition Mart Ltd- 5
C) India EXpO C) V. V. Gir

Greater Noida Ry

Gandhinagar’ D) Rajendra Prasad

D) Mahatma Mandir,
E) None of the above

E) None of the abOVe o __

VZ9 I|I|I|Ii|||III1I||Il|||_I|
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@ WRA & fanem =t Rt w@R gr @ER ﬁé?'(“-“omﬁu.ﬁ.m):ﬁmﬁf@asrmﬁsm
6T S B Swon fye 6 o 2 A TP H 3 e & 3w 3 |
" A) Wi AE¥edey 3 Fi= foT T¢I =T e avem- 3T HEHT AT S,
B) fewfrer) sl T, S ST § R pRAT (@ s
C) TSIt FTHT) <61 Fel T 1 e ferereor ewrian & 37 @y
D) wrfén € Tu T S = et et arem wgAl # R =
g.B) S A I I 1 T H 3 R Y e R |
Elﬁw Who announced the B :
% e British Government's Direction (Q. No. 80 to Q. No. 84) : Study the
I a:)ceLp;?;(I\;/?ozfnttEZ t&)artltlon of India.? following information carefully and answer the
en :
i questions.
B) Linlithgow o . _
C; Raiaggpalachari o The.glvg-zn below pie chart shows the percentage
D) Hardinge L dis_tnbutlon of the total number of chairs (wheel and
E) None of the above 3 office) manufactured in five different months i.e.
e January, February, March, April and May and also
ﬁv: SR given table chart shows the ratio of the number of
’ H @ welen i s ﬁﬁﬂ 1 wheel chairs to office chairs manufactured on five
+A) 9@ B) FﬁET different months. ﬁ@
C) I D) g ¢ = o gRiai figaden=5000 [E¥%;
i e - ‘: The Total Number of Chairs Manufactured = 5000
Find the odd one out from the followmg - S
A) Mercury B) Iron r, May Jaguary
C) Silver D) Gold - e 25% 27%
E) None of the above - =
April HEd
qﬁwmﬁaémeoﬁ@qﬁrqtgwm 10%" w4 | February
March 20%
%qé | 39 Gf =1 9\ o ;; 120
A) IHAT Sl G £
B) T e Y e =T i B EE = AR
. C) Ty w&1 =iy £ Months Tt & i | sgum
D) S&Igd S Gy o The ratio of the number
E) 3uda I o his 81 of wheel chairs to office
The India-Pakistan signed a treaty in the | chairs manufactured
year 1960. The name of that treaty was | St/ January 2:1
A) \c(aamuna wtaterf tretaty mFebruary 7:3
B) Ganga waters treaty — 4.5
C) Indus waters treaty T/ March T
D) Brahmaputra waters treaty | 3T/ April =
E) None of the above s /May :
VZ9 10N 18 X A

of ¢ et
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Find the ratio of the number of %N Visial okt

manufactured in May to th
enu
chairs manufactured in Januarr;ber of office

A) 2:1 /
B) 5:3
C) 8:9 @60
E) None of the above (Vco
81. sadl ® iffa a1 A d & 20%'5%111#3‘1

bl | afe e § i faehl T aiEE i
H wEn N e Pl T F AT
5:4%, ﬁmaﬁﬁa%ﬁﬂé?@ﬂgﬁﬁﬁﬁa@r
Fa i |

A) 690 ii]z_; vsf’o "
B) 820 P
c) 510 &
D) 780 ey
E) Suded § & g Tl =
rs manufactured

Out of the total number of chai
%,E in January, 20% of the chairs are 'Unsold. If the
E}“f/:: ratio of the number of office chairs to wheel
’ chairs unsold in January is 5 : 4;then find the

B

number of wheel chairs sold i January.

A) 690 L,q_?@m |
o o (/o 0N
C) 510 1%

) 780 /{

E) None of the above

A) 70% B) 40%
C) 30% +D) 50%
E) Iwdw & & i T

The number of office chairs manufactured

E-g"- in April is what percentage of the differencé
G

%% between the total number of chairs
manufactured in February and April ?
A) 70% B) 40%

C) 30% D) 50%
E) None of the above .
< o Tafifa et i 6t we, T # ffia
%ﬁﬂgﬁﬁﬁmw 5/8 % 3t A 3R SH
3 fififa sifEe HRiET < ge %1 IgaE 5: 3

2, ﬁ?ﬁtﬁﬁiﬁﬁ@ﬁﬁfﬁwmmﬁ |

« A) 550 B) 740
C) 480 D) 670
E) ST H ¥ Sk T .

If the number of wheel chairs manufactured
in June is 5/8t" of the number of wheel chairs
manufactured in March and the ratio of the
number of office chairs manufactured in
March and June is 5 : 3, then find the total
number of chairs manufactured in June.

“A) 550 B) 740
C) 480 D) 670
E) None of the above

gaNwwEt # fififa e il i e IR e F
el HE! 6 T % e 3T 0 R |
A) 320 B) 550
rC) 450 D) 600
E) 3w & & 18 &
Find the difference between the number of

wheel chairs manufactured in February and
the number of wheel chairs manufactured in

April.
A) 320 B) 550
C) 450 D) 600

E) None of the above
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85. T q Wt srrefia g awi 3 o & ge | 87 T G D o 3 g i A 9 B

it g (H,CO,) st § ? mlla“l;fm 3 v 2 ey g A B © |
A) TTEESE (N,) < BAE 7
B) at
) S (O,) 5
C) F14 SRS (CO,) &) mg
D) HcH SE3THTES (802) - D) Ryutte T ﬁb‘éﬂ 1 ]
E) Swde #f & #1E 7& o E) ST # § =g 7 )
s[@ Which acidi b Mukesh is taller than Suresh but shorter
,u,.;: 5 ich acidic gas from the air d|sso|ves in than Rakesh. Rakesh is taller than Harish
@E“-ﬂ rainwater to form carbonic acid (H CO 3 ? but shorter than Amar. Who among them is
A) Nitrogen (N,) ‘ the shortest ?
' A) Suresh
B Oxygen (O B) Mukesh
C) Carbon dioxide (CO,) C) Harish

D) Sulfur dioxide (SO,) D) Cannot be determined

E) None of the above
E) None of the above

. ] Ba.mﬁmﬁﬁaﬂtwﬁmﬁ
86. fava 6 o wet T HHA-H B ? - . I -

A) Ffferdt & ST 2 |
B) I v A)
: ; ~ B) wicH

R I ;
©) e 1; C) STadIh
D) et Yo D) 3R
E) swid # & *1g & [ E) soda # & His T

The longest river in the world is - - The ratio of speed of light in vacuum to the

I,E‘aspeed of light in a medium is called the
of the medium.

B) Amazon A) Frequency
! B) Wavelength

A) Mississippi

C) Yangtze
i C) Refractive index
P) Nie D) Amplitude
E) None of the above E) None of the above |
MM
VZ9 0 20 .
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89. fexie 2024 N, P Wmaq 3 ug p £ 2. (e, | P (9.0, 91 5.9, 95) : Freferfiae rerrl 7

e, e . . -
g;i‘mﬁma% Ve USRe) vy ¢ | wregde s hif o A far o g F I
0 ot s <fdes @ | i | | o
faé sm i 2 Gl
A) ¥ IR ISR ey Direction (Q. No. 91 to Q. No. 95) : Study the
B) T 3R Wl ey 1 T following information carefully and answer the
C) WA JehT wieyey (chy | questions given below.
D) e 3R it Smeiitn s : —
aifeRa R
(NITI) 31 ) 16000Markeﬂ'?i—f‘e of thu?ﬁglug)tf (in Rs.)
E) ST # ¥ 5 7 e ‘

In December 2024, which organization
released the report titled “S.A.F.E.
(Secure, Affordable, Flexible and Efficient)

Accommodation : Worker Housing for 2,000~ =

Manufacturing Growth” ? 0 S - &
L. uag X 9 S T d

A) MImStl’y of Labour and Employment Cell Phone Computer Smart Watch Dining Table B%t_:'li Rack

B) Ministry of Housing and Urban Affairs
C) Confederation of Indian Industry (Cll)
D) National Institution for Transforming

India (NITI) Aayog s STa hifT | /
E) None of the above A) 8,500 T 1(00 R
‘,.i_fﬂ . . {1 O
go.ﬁmwmﬁmmaﬁa@qm B) 8,000 ¥
g; - ﬁi ; D) 7,500 TR
C)atnﬁ'«.!raﬁta;rqiaﬁ%ra@ﬁ E) 3w & & ®1S TRl
D) =T 9eell erid o Find the average of the marked price of
E) é A i .4 dining table and book rack.
[E#[E Which type of rock formation is most
%‘g{; commonly associated with low groundwater A) Rs. 8,500
:a:ﬁ 4
storage 7 B) Rs. 8,000
A) Sedimentary rocks
B) Alluvial deposits 4 C) Rs. 9,000
C) Igneous and meta}morphlc rocks D) Rs. 7,500
D) Limestone formations
E) None of the above E) None of the above
[VZ9 (O 69 21 PTO.
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@Hﬁwwaﬁa@wa,mwﬁ 20%
M R 3T gwFeR e & ifed T
15% I g2 2 R, T hoget v T o T

P —

9 SG'T@T%Q l f> )
2T et e
C) 3% s>
D) 2% ‘% o ¥
E) Smdd s 280

If the marked price of the computer is 20%
more than its cost price and the'shopkeeper
offers a discount of 15% on the marked
price of the computer, then fiﬂd,the profit
percentage of the computer. ..

A) 5%

B) 1%

C) 3% ,

D) 2% o

E) None of the above '

agﬁniaamﬁmn@aﬁtaiﬁ%q@ms
8 | afd gHFFGR F 25% ®1 @ T 2,

STghiT el 1 I e §I ﬁﬁ}ql
A) 6,200 TR /&K/“;“:ﬁm
B) 6,000 ¥ @;,m
%
- C) 6,400 ¥ S
D) 6,500 T 125 550
E) 39w | @ 15 T S >

The selling price and marked price of the
%ﬁ@ dining table is 4 : 5. If the shopkeeper gets
%5 the profit of 25%, then find the cost price of

the dining table.

A) Rs. 6,200
B) Rs. 6,000
C) Rs. 6,400
D) Rs. 6,500
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N T T I
4%3ﬂ‘§¢mmﬁamﬁq 1,200 w73

, T GHTIER T & I 1eh g 310 i |
A) 1,000 T
(B) 800 %R x:@f\;a@

C) 900 T (g0 AL
D) 600 &

E) Sude # & ¢

If the ratio of the cost price and marked price

of the cell phone is 3 : 4 and the profit earned
55 by the shopkeeperis Rs. 1,200, then find the
discount offered by the shopkeeper.
A) Rs. 1,000 er9?
B) Rs. 800 Cev° !
C) Rs. 900
D) Rs. 600

E) None of the above

95. T ot 3R g 1 o1 5663 69 41 5% U
i 3 W 9T T e 4,800 ¥ R |
TS GHMER 1 W1 o W 36 JHTehd 4o =1
10% = fireran 8, @ GhMER 510 9% 36 W
ST ATl T S| T | |
A) 150 T93
C) 200 ¥R

E) Swfw & & I8 T

The selling price of smart watch and book rack
i in the ratio of 4 : 5 and the cost price of the
smart watch is Rs. 4,800. |f the shopkeeper
gets the profit of the smart watch is 10% of its
Marked price, then find the discount offered
by the shopkeeper on a book rack.

B) 100 ¥R
D) 250 TR

E) None of the above

U

VZ9|

i

A) Rs. 150 B) Be. 100

C) Rs. 200 D e 58
“”"‘“»—-«»».*..N!_E) None of the above
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of India is Ex-officio Chairperson

of Rajya Sabha.
A) Vice-President
B) President

C) Prime Minister

A) Article 359 D) Governor
B) Article 358 b E) None of the abov
C) Article 348 L X%
99) Ie 3 T S LT @ |
D) Article 338 { & ¥ B) :
E) None of the above - I )
' Lz C) [rq D) 7
@ 45 B i er 1 Sy H I FWA 1538, E) Iwfad § § HI3 TE
AR YsmEEmEmEHEE 7 ¢ The camel stores fat in its
a) 32 £ A) Stomach B) Legs
C) Feet D) Hump
B) 30 L E) None of the above
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C) 31 100. T5EE % Y F1 § 2
D) 35 - A) TR
E) Fwje § A S T B AR
In a class of 45 students, the rank of Ayush g) :'3“5'@_&;
is 15 from the top, then rank of Ayush from E; & 58 o
the bottom is SR
The flower of the Hibiscus plant is
A) 32 L A) unisexual
B) 30 B) bisexual
C) 31 5 C) neuter
D) 35 D) very small
E) None of the above E) none of the above
R 23 P.T.O.
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